1. Remove the item from the box and check the parts list and verify the 2.Unfold the bed frame.

accessories list on the right side

Fabric cover

Foldable bed frame

Bed Backrest

A

metal frame

metal rod
§%;406*40*20

metal rod

T000%40%20 i
\ 2isct of metal parts

Magnetic light strip

3. Install the T-shaped legs according to the diagram, based on the holes on the bed frame.

Socket Head Cap //
Screw (M8%25mm) ~—~—/

T-shaped legs

Socket Head Cap
Screw (M8%25mm)

Adjustable T-shaped leg

dpovison

Assembly instructions

Z

BD8088 Installation

The number of people needed for installation: 2

@ Please read the manual carefully before
installing this product. And strictly follow the
installation process

@) Please take good care of this manual for
your next installation

(3 Note: Before installation, screw all the
screws to 1/2 of the length of the
installation. After all screws are half
screwed in, tighten them all together.

On a red ribbon are furniture

Parts list . . .
installation accessories
. Quantity
Serial . . o Spare
. Shape Name required for o
number installation| duantity
Socket Head Cap
A Q Screw (M8*35mm) 24 1
N Socket Head Cap
Q\‘ Screw (M8*25mm) 20 1
C { T-shaped leg 4 0
D { Adjustable T-shaped leg 2 0
E ( Support leg 2 0
F \ Magnetic light strip 6 0
G @ Sensor 2 0
Power Adapter for
H = Light Strip 1 0
1 N Wrench 2 0
K

Total 3 page; page 1



4. Remove the item from the box and check the parts list and verify the accessories list on the right side.

Socket Head Cap T

Screw (M8%35mm) \/? ? \\\

406mm)

Socket Head Cap
Screw (M8%25mm)

Socket Head Cap |
Screw (M8*35mm)

Support leg

5. Turn the bed frame over and place the fabric cover on it.

The holes provided here must correspond
to the holes on the bed head. iy

Fabric cover

Socket Head Cap
Screw (M8%35mm)

dpovison

Assembly instructions

&&=

BD8088 Installation

The number of people needed for installation: 2

@ Please read the manual carefully before
installing this product. And strictly follow the
installation process

@) Please take good care of this manual for
your next installation

® Note: Before installation, screw all the
screws to 1/2 of the length of the
installation. After all screws are half
screwed in, tighten them all together.

On a red ribbon are furniture

Parts list ) . .
installation accessories
. Quantity
Serial . . o Spare
. Shape Name required for A
number installation| duantity
Y Socket Head Cap
A Q Screw (M8*35mm) 24 1
N Socket Head Cap
Q\‘ Screw (M8*25mm) 20 1
C { T-shaped leg 4 0
D { Adjustable T-shaped leg 2 0
E ( Support leg 2 0
F \ Magnetic light strip 6 0
G @ Sensor 2 0
Power Adapter for
H = Light Strip 1 0
1 N Wrench 2 0
K

Total 3 page; page 2




7.Place the Bed Backrest on the bed head metal frame

§

7.Install the magnetic light strip and attach it to the
outer side of the bed frame using magnetic attachment

nstall on all four sides

of the bed frame

7.Install the magnetic light strip and attach it to the
outer side of the bed frame using magnetic attachment
(The installation method for the sensor battery is on the
last page)

dpovison

Assembly instructions

N //’/

BD8088 Installation

The number of people needed for installation: 2

@ Please read the manual carefully before
installing this product. And strictly follow the
installation process

@) Please take good care of this manual for
your next installation

® Note: Before installation, screw all the
screws to 1/2 of the length of the
installation. After all screws are half
screwed in, tighten them all together.

On a red ribbon are furniture

Parts list ) . .
installation accessories
Quantity .
Shape Name required for 5[)‘(1[‘.0
installation| 4Uantity
Y Socket Head Cap
A Q\\ g Screw (M8*35mm) 24 1
W) Socket Head Cap
B Q\\ Screw (M8*25mm) 20 1
C { T-shaped leg 4 0
D { Adjustable T-shaped leg 2 0
E ( Support leg 2 0
Magnetic light strip
F 6 0
G @ Sensor 2 0
Power Adapter for
H = Light Strip 1 0
1 N Wrench 2 0
K

Total 3 page; page 3




Battery installation instructions

3. The button cell is placed in the groove with the

1. Rotate the backplate and remove the backplate

O @®

positive pole side up (Smooth flat side facing up)

3. Cover the backplate back and rotate (note the corresponding groove)

4. The installation is complete

Please purchase it yourself

Model : CR2450

(" Lithium Cell

CR2450

3V
SC




	BD8088安装说明书1
	图纸和视图
	模型


	BD8088安装说明书2
	图纸和视图
	模型


	BD8088安装说明书3
	图纸和视图
	模型



